
METAL SEGOVIA CHAIR

SKU - 619721

2023.10.09 Page 1



Page 2



center at 1-877-967-5362

Page 3



Step 1
IMPORTANT:
Please make note of the different hardware
sizes and ensure you are using the correct 
size hardware (bolts, screws and washers)
for each step.

 
     

 
 
Using a second person to assist you, position the Seat Frame (A) with the Back Frame (B) as shown. While one 
person holds the Seat Frame (A), secure with Short Allen Bolts (H-2), Spring Washers (H-3) and Flat Washers 
(H-4) using the provided Allen Key (T-1), stacking the hardware in the order as shown. Engage all bolts first, then 
fully tighten. DO NOT OVER TIGHTEN.

Step 2
IMPORTANT:
Please make note of the different hardware
sizes and ensure you are using the correct 
size hardware (bolts, screws and washers)
for each step.

Position the Right Leg (C) with the assembly as shown. Note that the Left/Right Leg (C/D) assemblies have
preattached tabs that help align the components. Secure the Right Leg (C) to the Back Frame (B) with Short 
Allen Bolts (H-2), Spring Washers (H-3) and Flat Washers (H-4) using the provided Allen Key (T-1), stacking the 
hardware in the order as shown. Do not yet fully tighten. Secure the Right Leg (C) to the Seat Frame (A) with 
Long Allen Bolts (H-1), Spring Washers (H-3) and Flat Washers (H-4) using the provided Allen Key (T-1), 
stacking thehardware in the order as shown. Do not yet fully tighten. Repeat the same process for the Left Leg (D). 
Once allhardware is engaged, fully tighten. DO NOT OVER TIGHTEN.

Page 4

Short Allen Bolt (M6x40)mm  x3

Spring Washer M6  x3

Flat Washer (M6x1)mm  x3

Allen Key  x2

Long Allen Bolt (M6x55)mm  x2

Short Allen Bolt (M6x40)mm  x8

Spring Washer M6  x10

Flat Washer (M6x1)mm  x 10

Allen Key  x2



Step 3

Levelers are located on the bottom of each leg
and may be used for additional adjustment if 
needed for uneven surfaces.

  

   

  

 

  

  

Using a second person to assit you, turn the assembly upright. Place Seat Cushions (G) and Back Cushions (F) into 
position as shown above. Ensure the zippers face down.
Assembly is now complete and the product is ready for use. Adjustable levelers are located on the bottom of each
leg and may be adjusted by turning outwards, counter-clockwise to help account for uneven surfaces. 
NOTE: Hardware may loosen over time. Periodically check that all connections remain tight and adjust as needed.

Page 5



Page 6



Page 7


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

